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. The difference between simple and

@ st = 0o/ ‘] Us K_,},g DO compound interests compounded annually on
cl o los)

0 (X5~ a certain sum of money for 2 years at 5% per

= 18000 annum is 45. The sum is-

54 - P= Yoo v fAfa wifel oz 2 a6t & 3 5% aiffe Ht gz &
eIl
3 q aIffes &0 & ARG & IS TR AT 3R
(2 &0 Tehqfe 1o A 3T 2 45 21 2fel fdbasit € 2

H_gxw 5 'Row @ (A) 236000

! ___|,(e)72000

< PxEee 1800
@ ‘15.\‘ me oy =) 1R0vs Cc)z D

(D) 254000
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MATHEMATICS i Pkl

2. The difference of S.I. and C.l. on an amount of

30000 for 2 years is 147. What is the rate of

Interest?

230000 U2 2 ATS & ATENLUT ATH 31T Thgie T
1 Heeie 2 147 8, Al ST i 72 S1a Hifre 2
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2y | 81 [ a2 3. If the difference between the compound

interest and simple interest on a certain sum
ST = e j for 2 years at 8% per annum is 32, the sum is-
’.

fedt et a2 2 af &1 8% anffes =arar &t <2 A
Uhgfe ST 30T ALY SATA &1 3ae 2 32 ¢, af

O(C-Lt =) '50004 “Wﬁmﬁﬁﬁo
Rs f(A) zsoool
2L - P (8) 4300
o g
o (c) 25300

P =S (D) 5700
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4. The difference between C.l. and S.I. on a

certain sum of money at 15% per annum for 2

years 219 days is2061, then find the principal.
feft fAfda eemerfel uz 2 adf 219 f@a & 15% &t

e dThgfes O a2 U2, dhqgiess ot 3T
ARV T & i &1 3iae 2 2061 2, At FSeE

(B) 248000
(c) 236000
(D) 232000
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5. If difference between Cl and SI of 1 year is 36
when a sum is calculated at a rate 12% per annum

after every six months. Find the sum?

af2 faseft ersrefal &1 12% aifdes $i 32 & 32 ©: wda
d1¢ W13 AT a1 Tehgien AT 31T ATEMRUT &ATA &1 TH
ae &1 3feue 2 36 &1, dl 9E erererfel fdbaeti 2 2

t(A) no,ooﬂ B

(B) 212,000
(c)z15,000
(D) 29,000
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6. Difference between two years compound interest

and two years simple interest is 25. If rate of interest

. 1 . o e
Is 122 %p.a. Find the Principal?

febeft fetfRa arfel ue 2 aul & 12; % 6t aiffes gz & Amenzor
ST dAT Tshgfen sATA HI e 2 25 2, dl FH e iTd Hel
(A) 1925
(B) 1800
(c) 1900

((0)1600>
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7. The difference between compound interest
and simple interest at the same rate of
interest R% per annum on an amount of,
15000 for 2 yr is 96. What is the value of R?

15000 &t 21fel Uz 2 a6f & AT amale AT AT
HTETZUT SUTH A T & ATA 2 R% dIffies U2 96 BT

3Hoti? £ R BT AT 22

(A) 8% -

(B) 10%

(C)12%

(D) Cannot be determined
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8. If the difference between the compound interest
and simple interest at 17% on a sum of money for 2
years (compounded annually) is 2433.50, then the

sum (in) is:

faseft erarafel w2 17% &t At @2 & 2 af & A awgfR
T 31T JIEMRUT SATA & i &1 3iae 433.50 £ (af2 &

&1 Iroren aTf¥fes Tenqgfe smeme w2 @t 2), at aifel (2 ) =ma

T4
(A) 12,000
(8) 25,000

,oo@

(D) 20,000
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( a ’ R A 5/ @ 9. Difference between three years compound
[ interest and simple interest is 57 while rate of

@ — g interestis 16§ %p.a. Find the principal?

feft ereifel we die adf &1 awqfa s aan aneroT
T BT 3T 2 57 ¢ Aafds ST &l 2 162% aTfdies 2T 21 |
T o T

(A) 620
(B) 720
(c) 758
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